		Sumn	nary of Av	ward Roll PM	S for BC stude	nts for the year 20	14.19	
	e of Institution :-	Kanya Maha					- 166310-	nail.com
Ema	iil Address :	kanyamahav	idyalaya@ya	ahoo.com		Nodal Officer Mot Nodal Officer Ema	drseemant15@9	
Mob	ile No. :	9416974179				onder Ema	10 · · ·	
	FOR FRESH C	ASES						Tatal
Sr. No.	Particulars		No. of Students	Stud	lents Share	Total amount of Student Share	Total Amount of Management Share	Total Amount Claim ([+ii)
				Maintenance	Fee Paid by	(i)	(ii)	(;+1)

Allowance

32

Total (a)

67820

FOR RENEWAL CASES

1 Boys (Day Scholar)

Boys (Hosttler) 3 Girls (Day Scholar)B.A-1,

4 E. Voc.-1

B.Com-1, BCA-1

2

5

•

Sr. No.	Particulars	No. of Students	Stuc	lents Share	Total amount of Student Share	Total Amount of Management Share	Total Amount Claim
			Mainenance Allowance	Fee Paid by Students (If Any)	(al)	(b II)	(a+b)
1	Bcys (Day Scholar)			- · ·		*	1
2	Bcys (Hosttler)	1 /	N.	*	-		
З	Girls (Day Scholar)	-			· · /		
	B.A/B.Com/BCA-II						
4	M_A/M.Sc-II						1
5							1
6							
	Total (b)						
Ĩ	Boys						T
-	Girls	32	67820				+
Ī	Total Amount of Scholarship	32	67820				6782
	Signerere of Nodal Officer					Signatore of Principal	

Principal Kanya Mahovidyo**iya** Kharkhoda

67820

Verified Por 67822

2

Students (If Any)

	Address kanyamahav e No. 9416974179	avidyalaya Kh vidyalaya@ya	hoo.com			te No. : 9466515235 il : drseemant15@gm		
Sr.	FOR FRESH CASES	No. of						
No.		Students		lents Share	Total amount of Student Share	Total Amount of Management	Total Amount	
			Maintenance	Fee Paid by	(i)	Share	Claim	
1	Boys (Day Scholar)	+	Allowance	Students (If Any)	(i)	(ii)	(i+ii)	
2	Boys (Hosttler)				1			
3	Girls (Day Scholar)B.A-1,				+			
	B.Com-1, BCA-1	1 20 0						
	B. Voc1	70+7	204600	560098400	103000 26.60	930160-		
5	0.001				26.60	130100	1190760-	
		+.						
	Total (a	a) (70)+7			1			
	Total	11 10 41	20460	1600 gebos	303000	930160	\$1190760	
	FOR RENEWAL CASES	(72)		/ ///	26064		110/0-	~
Sr. No.	FOR RENEWAL CASES	No. of Students		lents Share	Total amount of Student Share	Total Amount of Management Share	Total Amount Claim	
No.	Particulars	No. of	Stud Mainenance Allowance	Fee Paid by	Total amount of	Total Amount of Management	Total Amount	
No. 1	Particulars Boys (Day Scholar)	No. of	Mainenance	lents Share	Total amount of Student Share	Total Amount of Management Share	Total Amount Claim	
1 2	Particulars Boys (Day Scholar) Boys (Hosttler)	No. of	Mainenance	Fee Paid by	Total amount of Student Share	Total Amount of Management Share	Total Amount Claim	
1 2	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Scholar)	No. of Students	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (a l)	Total Amount of Management Share (b II)	Total Amount Claim (a+b)	
1 2 3	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Schelar) E A/E.Com/BCA-II	No. of	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (a l)	Total Amount of Management Share (b II)	Total Amount Claim (a+b)	Male F. 20, 24, 760 Jay
1 2 3	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Scholar)	No. of Students	Mainenance Allowance	Fee Paid by	Total amount of Student Share (a l)	Total Amount of Management Share (b II)	Total Amount Claim	4. f. f. 20, 24, 76 Jay
1 2 3 4 5	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Schelar) E A/E.Com/BCA-II	No. of Students	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (a l)	Total Amount of Management Share (b II)	Total Amount Claim (a+b)	Yaf P. 20,24, 26 Jay
1 2 3	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Scholar) E A/E.Com/BCA-II M.A/M.Sc-II	No. of Students	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (a l)	Total Amount of Management Share (b II)	Total Amount Claim (a+b)	Y + F. P. 20, 24, 76 Jay Auditor Olo Diractor Actor Education,
1 2 3 4 5	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Schelar) E A/E.Com/BCA-II	No. of Students	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (a l)	Total Amount of Management Share (b II)	Total Amount Claim (a+b)	Y + F. 20, 24, 24. Juny Olo Diractor Dever Education, Panchkula
1 2 3 4 5	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Schelar) E A/E.Com/BCA-II M.A/M.Sc-II Total (t	No. of Students	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (a l)	Total Amount of Management Share (b II)	Total Amount Claim (a+b)	Yo fr fr. 20, 24, 76 Joy Olo Diractor Debar Education, Panchkula
1 2 3 4 5 3	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Scholar) E A/E.Com/BCA-II M.A/M.Sc-II Total (t Boys	No. of Students	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (al)	Total Amount of Management Share (b II) So150 EQ=800	Total Amount Claim (a+b)	Y + F. 20, 24, 76 Jan Auditor Olo Diractor Dever Education, Panchkula
1 2 3 4 5 3	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Scholar) E A/E.Com/BCA-II M.A/M.Sc-II Total (E Boys Girls	No. of Students (53,62	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (a l)	Total Amount of Management Share (b II)	Total Amount Claim (a+b)	Y + A. 20, 24, 76 Jay Auditor Olo Diractor Debar Education, Panchkula
1 2 3 4 5 3	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Scholar) E A/E.Com/BCA-II M.A/M.Sc-II Total (t Boys	No. of Students (53,62	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (al)	Total Amount of Management Share (b II) So150 EQ=800	Total Amount Claim (a+b)	Y + A. 20, 24, 76 Juny Olo Diractor Debre Education, Punchkula
1 2 3 4 5 3	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Scholar) E A/E.Com/BCA-II M.A/M.Sc-II Total (E Boys Girls	No. of Students (53,62	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (a 1) 190 br 233200 7938 00	Total Amount of Management Share (b II) 5.750 60-800 153.760	Total Amount Claim (a+b) 83400 202-976-	YIFA. 20,24, 76 Juny Auditor Olo Diractor Depart Education. Panchkula
1 2 3 4 5 3	Particulars Boys (Day Scholar) Boys (Hosttler) Girls (Day Scholar) E A/E.Com/BCA-II M.A/M.Sc-II Total (to Boys Girls Total Amount of Scholarshi	No. of Students (53,62	Mainenance Allowance	Fee Paid by Students (If Any)	Total amount of Student Share (a 1) 190 br 233200 7938 00	Total Amount of Management Share (b II) So150 EQ=800	Total Amount Claim (a+b) 83400 202-976-	YIFA. 20,24, 76 Juny Olo Director Dever Education. Princhkula

		Post Matric Sch						10							. 19			erist	- M- 81	bijuciț		
J.	ame of institu mail Address Tincipal Mobili idal Officer	2.00	kanyama	havidy	alaya@yahoo	o.com, kn	nkharkhoda@g	mail.com														
N	iodal Officar	e nu.		Seeman	t, 9466515235										17		18 19					
ACCCO	UNT NO	08092040	Associate 002310		ODE ORBC010	0 OBC			10	11	12			110	6 5			20		22 2	3 2	24
11		2 3	4	5	6	7	8	9		ode	OU L		14	15	lissi		Rate Per Month Number_		f any	it to	arue lege are)	t of otal 23)
SERAIAL NO	Name IN Englis	Gender Catogary (Sc/ST/BC Mirrority)	Class	Roll No.	date of Birth	Annual Income	Father Name in English	Address1 House Number Colony	District	Pincode	registration	of of Allendance	SC_CODE_of_Branc	Account Number ts	Padiladi Julinoi o		Maintenance Rate Per Month Maintenance_Number	Total Maintenance Allowance	Fee/Fund Paid by Students (if any)	Scholarship Amount to the students (total Column = 20+21)	Fee/funds (college Share)	total Amourlt of 2 Scholarship (total Column= 22+23)
		Sub											H .		286842353999 201	8-07-04	300	10 300			9500	13300
T IKI	RAN	FKHATIK	BA-1	467	7 1996-09-20	90000	CHIMANLAL	KHARKHODA	SONIPAT		R19529		CBIN0280399	2185534163	434535260527 201	1	300	10 300	800			13300
[205	ANJALI	CHAMAR	BA-1	455	1999-01-25	50000	DILSHER	FARMANA	SONIPAT	131408	R18298	75	SBIN0006875	36029528318					T		9500	C 1330
3 KI	RTI	E BALANKI		1	1000 04 15	70000	SURENDER	BIDHLAN	SONIPAT	131402	R19529	74.5	GGBKK0001334	93007727244	682665059895 201		300	10 300	0 800	3800	9500	
	/	FBALMIKI	BA-1	4//	7 1998-04-15		- /		SONIPAT		R19528	115			530308403408 201	8-07-19	300	9 270	0 800	3500	9500	1300
4 PC	ALOC	F DHANAK	BA-1	403	2000-02-06	96000	JAGBIR	THANA KHURD	30117-61			12	ORBC0100803	08092151022422	444273646714 201	8-08-13	300	9 270	800	/3500	9500	1705
5 AN	VNU	F CHAMAR	BA-1	426	1997-04-19	150000	ANAND SINGH	KHARKHODA	SONIPAT	131402	R19528	15	CBIN0280399	3621117876			300	10 300	20 200			
6 FC	ALOC	F DHANAK	BA-1	511	1995-04-10	85000	JAIPAL	SEHRI	SONIFAT	131402	R18506	78	CBIN0282118	2207920666	368999156216 201		300	10 300	800	3800	9500	133
-3 JY		F CHAMAR	BA-1	F	2000-11-10	80000	BALWAN	ROHNA	SONIPAT	131402	R18478	70	ORBCOLOCEOU	08092151018357	602714645478 201	.8-07-04	300	10 30	800	3800	9500	13
F								FARMANA	SONIPAT	131408	1084771	175	PUNB0065600		641648484124 201	8-07-19	300	9 27	200 800	3500	9500	DC13
2	ALEN	F DHANAK	BA-1	511	2001-02-03		RAJ KUMAR	FARMANA						0656001501114572	909210790757 201	8-08-13	300	9 27	300 300	/ 3500	9500	130
TUSH	IENAZ	F DOOM	BA-1	552	1998-10-21	60000	RAJU	KHARKHODA	SONIPAT	131402	R18381	14.5	CBIN0280399	2185563944			300	10 30	00 800	3800	0500	
11 PR	RIYANKA	F DHANAK	BA-1	517	1970-01-01	60000	DHARMBIR	FARMANA	SONIPAT	131408	R18478	75	PUNB0065600	1501114749	421335614598 201		300	10 30	00 00	3000	/ 9500	13
22 SU	SHMA	F BALMIKI	8A-1	424	1998-12-20	60000	SUNDER SINGH	KHARKHODA	SCNIPAT	131402	R182955	85	PUNB0668600	6686001500015600	806951076318 201	18-07-03	300	10 30	00 80	3800	9500	13
13 RE	KHA	F CHAMAR	BA-1	679	1998-05-26	72000	MUKESH	KHARKHODA	SONIPAT	131402	R183564	77		3334428345	995611298456 20	18-07-04	300	10 30	00 800	3800	- 9500	
											R183452	1	CBIN0280399	· · · · · · · · · · · · · · · · · · ·	721813770467 20	8-07-19	300	9 27	00 800	3300	9500	0 130
SO	INALI	FIDHANAK	BA-1	450	2001-09-08	65000	DEVENDER	CHOLKA	SONIPAT	131402	R183452	1	SBIN0006875	35968903264			300	9 , 27	00 80	3500	950	0 130
35 TA	ALUN	F CHAMAR	BA-1	537	2001-05-02	\$0000	MOKESH	SEHRI	SONIPAT	131402	R184902	82	CBIN0280399	432424234324	634393794146 20		1	-	1	-		
TO MA	NISHA	F DHANAK	BA-1	445	2000-03-10	60000	BUTENDER	SISANA	SONIPAT	131408	R184592	17	PUNB0312000	3120001500152500	982540932764 20	18-07-04	300	10 30	00 80	100	-	
17 RIT		EALMIKE	8A-1	554	1999-10-21	60000	RAM KUMAR	KHARKHODA	SONIPAT	131402	R184422	76	CBIN0280399	2185530714	764237376252 20	18-07-03	300	10 30	00 80	3800	930	Do
18 10	NISHA	F CHAMAR	BA-1	600	2000-09-24		SALJAN KHOKHAR	KHARKHODA	SONIPAT	131402	R133082	22		3344221870	787194557442 20	13-07-04	300	10 30	00 80			00 1
								ROHNA	SONIPAT		R134012	-0	CBIN0280393		264051156550 2	18-07-19	300	300 300	90 SO	0 3800	950	00
1	VANI#	CHANNER	BA-1		2001-05-17		MANISH					1	BARBOROHNAX	56690100001420		J.		9 27	00 80	3500	95	17
2012h	14	CHANAK	BA-1	634	2000-05-20	50000	RAJENDER	ROHNA	SONIPAT		R184385	· · · -	CNRBC005528	5528101001389		2				0 /350		130
5.4.3	RTAN F	CHAMAR	3A-1	468	1999-10-21	60000	INDER	THANA KHURD	SCNIPAT	131402	R185209	80	ORBC0100809	08092151022156	500471456731 2	018-08-13	300	9 2			1	
22 NEE	LAM -	CHAMAR	BA-1	471	1994-05-15	80000	SHILK RAM	RABHRA	SONIPAT	131301	R184605	75	CORPO001781	178100101000800	221034524911 2	018-07 04	300	10 3	000 8	380	95	500
-3 VAR	ISHA S	PALMIKI	8A-1	545	2000-05-09	50000		JHROTHI	SONIPAT	131403	R184596	74.5	PUNBOHGB001	77340100666513	450977329779 2	018-07-17	300	10 3	000 8	00 380	e voi	500
-		- TAMA 2	84-1	435	1996-08-10	60000	KRISHAN KOMAR	CHINOL	SONIPAT		R183394	-	PUNB0668600	7561001500001000		018-07-04	300	10	1000	38	00 00	1500
		CHARMA ³	BA-J	1	2001-08-09		~	GOPALPUR	SONIPAT				SBIN0006875	3593769991				10	3000	300 38	x	9500
				1									and second comparison in property of the					9	2700	800 4	300	9500
	91. V C	Quatrial	Par 1		1999-09-25			THANA KALAN	SONIPAT			-	ORBC0100809	0809215100976				0	and a	-	Soc)	00
SH	ALU	and and a star	14.1	454	2001-06-15	50006	BUENDEN	FARMANA	SONIPAT				SBIN0006875	3613897867	9 399142594945	118-08 1	300		- august			5
01	lisha		a. 28	45705	1100 74-17	soger	VATESH	GORAR	SONIFAT	131402	P18/029	175	a(1)/6071200.	312000150017450	0 0254218 (217)	18:20	300	- Bil	ouch	10	all a	A.C.

		1.10						te		368856196670	120-8-01-17	300	10 20	-	- giling .	- porte	1-
1						SONIPAT	131408 8	m	31:00015001(1) 250	762799371344			SUD	(200	3800	- 500	
CONTINUE F	DHANAK	BA-1	408 2001-07-24	BOOOD JAI KISHAN	SILANA		131402 8	11 PONBOR12000	319148:5484			300	10 3000	800	1800	9500	
Nº M	BALMIKI	BA-1	530 1993-10-15	50000 NAFE SINGH	GOPALPUR	SONIPAT		79 90006875	3194			300	10 3000	800	(3800)	(3500	1
	OHANAK	BA-1	597 2001-02-02	80000 SHIV KUMAR	BARONA	SONIPAT	131402 R		08092151021609	833470188684	2018-07-13	300	10 3000	800	3800	9500	1
2			506 2000-01-01	50000 RAVI DUTT	ROHNA	SONIPAT	131402 R	1 D ORSCD100809	08092151018036	910675650162	2018-07-04	300	10 3000	. 800	3800	9500	
1	CHAMAR	BA-1	441 2000-10-12	50000 RAMKISHAN	KIROLI	SONIPAT	131402 R	ORBCDIM	08092151011266	353385085714	2018-07-03	300	10 3000	. 800	3800		-
33 SUSMITA V F	DHANAK	BA-1		80000 AZAD SINGH	KHARKHODA	SONIPAT	131432 4	4 5 58/NQD06875	30904980513	832404610581		300	9 /2700	- 800		9500	1
34 JYOTI V F	CHAMAR	BA-1	407 1995-09-06	90000 DILBAG	FARMANA	SONIPAT	131408 R		34027442696	705123499324		300	1		3500	9500	1
35 SANEHLATA F	DHANKAK	BA-1	503 2000-03-15		FARMANA	SONIPAT	131408 R	14·5 SBINDO05413	34129500948		1.00			800	3500	9500	E
36 ANJALI F	DHANAK	BA-1	416 1998 03-04	80000 BUENDER	FARMANA	SONIPAT	131438 4	15 SAINCOOGETS	14036220966	218898570911		300	10 3000	800	3800	9500	
37 REENU	DHANAK	BA-1	512 1997-06-16	50000 RAJKUMAR		SONIFAT	131402 R	MIC	08092151020169	8092151070169	2018-07-17	300	10 3000	800	3800	10400	
38 ROJI	DHANAK	BCOM	76 15 1999-10-19	60000 ATTAR SINGH	THANA KHURD		13140018	15 000000000	080921510229898	852374550103	2018-07-04	300	:0 3000	800	3800	10400	
39 VARSHA F	DHANAK	BCOMI	18 27 2002-09-27	80000 DHARMENDER	BARONA	SONIPAT		0400100409	Contraction of the second s	983810245077	2018-07-04	300	10 3000	800	3800	12500	
40 NEHA	CHAMAR	BCA	1635 2000 07-01	60000 RISHIPRAKASH	MATINDU	SONPAT	131402 6	CASCOLODEDO	08092151007382	768329539260	2018-07-17	300	10 3000	800	3800	12600	
T KAJAL F	DHANAK	BCAI	1638 1998-11-07	80000 SUBHASH	ROHNA	SONIPAT	131402 4	SEINCOSO134	61039115081	524434771282		300	10 3000	800	3800	12500	
42 RAVEENA	CHAMAR	BCAL	1629 2002-02-04	30000 KUMAA	(HAROTH	1.6RIARGA	111402 R	DP CBINCI MISS	2185531865	252652894787	1	-300	9 2700	800	3500		16
43 NISHA	CHAMAR	BCA I	1543 2000-07-02	50000 (AGDISH	NUL (TTHE	()tudard 4	124406 1	O ORBCOLOCIAS	02457221003368		-	300				12500	16
KOMAL F	BALMIKI	BCAI	1607 2000-04-10	BODDO SHER CROSSER	Suis B. The	SONIPAT	131403	PUNDOHGBODI	77541900677070	996918900110		1	9 2700	800	3500	12600	-
45 PRIVA	DHANAK	BCA	1619 2000-08-06	ACCCC ARLASSIN	ADDARESHOLDER	SCINISMA 1	1114G) a	CBINC2ND1899	2185534675	326276538873		300	10 3000	800	3800	12600	
	DHANAK	BCA	1614 2001-10-16	60000 0ALBIR	THE RINGE	SUDNIFA T	131000	PUNBOS12000	11/0001500172200	214778308640	2018-07-17	300	10 1000	800	3800	12500	1
-	CHAMAR		3012 2000-01-29	NOTIC CHARACTER	STAL TRUCK PARK	UCROIPA "	131420	85 Store0006475	11229926456	386072404174	1018-07-04	300	10 3000	- 900	3800	26200	
47 SHILPA		SNPT-1	3014 2000-09-15	RODO 44 ENCES	1.181579478A196-2	ucreate a T	131404	9 6 EINOCO6875	3013579423	BB9489745014	2018-07-04	300	10 3000	800	3800	26200	
48 SANTOSH	CHAMAR	SNPT		ACCCL - NAMESH & AND		Sciences 5	111602	15 (3000227138	2207925257	650817703000	X 18 07-04	300	10 3000	800	3800	26200	
49 JYOTI	CHAMAR		3017 2000 11 19	T 2000 AST SINGH	VII.S. A. We A	SCRUTAT	131408	\$7 SEINODO6875	M887205848	223457782981	2018-07-18	300	10 3000	- 800	3800	26200	
SO MEENAKSHI	CHANAK	SNPT-Y	3025 2000-10-17	Construction of the second	Si Kang	SCREPAT	171408	83 PUNE0312000	1120001500172200	549307544709	218-07-13	900	10 3000	800	3800	26200	
51 SHALU	OHANAK	SNPT-R	3023 2001-08-01	60000 (Breith				19 CBIN0282118	2207920021	989027481568	2018-07-04	300	15 3000	- 800	3800	26200	
SZ NAMISA F	OHANAK	SNPT-1	3020 2001-08-17	70005 AANBRI SINGN	N 2019 R. MI Tolk	SCHORAT	133402	36 CSING280399		\$71479366239		1	10 3000	800	3800	25200	
53 TANNU F	CHAMAR	SNPT-1	3024 2001 08-10	TOXO NARENOER	3000	2CHUDIX 7	151-51	14	2185537425	A CONTRACTOR OF			1				
MALAL F	CHAMAR	ETHM-1	2109 2000-09-09	BOOD HAR RAM	SUSANHA	"LONGER A"	131408	B .	1170001530154500	804769041244		300	10 3000	800	3800	15200	-
58 PINK	CHAMAR	ETHM 1	2108 1999-08 18	60000 DHARAMER	SSANA	SCN/Px1	and the second s	12 PUNECE 12000	812-000156565	8525791494901	8018-07-04	300	10 -1000	800	3800	16200	
86 POOL4 F	CHAMAR .	CTHM-1	2107 2001-08-02	SODO DHAAAM BA	SISANA	SOMIFAT	101-12		3120001500154450	986276759851	2018-07-04	300	10 1000	800	3800	6200	
provers 3	DHILLAND A	84.2	714 1998-01-20	40000 RAMCHANDER	GORAR	SOMPAT		PUNB0312000	1500155209	908138614050	018-08-13	800	12 3600	800	4400	8790	
SB ANNE BASIN &	CHANNAR	84.2	505 1999-12 13	SUDDO BHOLA RAM	THANA KHURD	SONIPAT		85 ORBC01008U9	08092151022347	681555197712	NU8-08-11	100	12 3600	800	4400	\$700	-
א אות ג ג און אב	CHANNAR	34-2/	565 1398-10-10	3000 SU8HASH	KHANDA	SONIPAT	131402	76 CBING282118	2207925046	220235125184	1019-07-04	100	18 360	NOC!	4407	\$700	
	CHANNAR	34-2	555 1999-18-22	96000 SHANUPAN	BAOLI	HAJAR	124105	19 ALLA0212352	59027509275	813409676268	12400	300	12 3502	378	LASS	572	-
1	SHAMAK	34-2	512 1397-09-08	20000 PAJ#21	KHARKHODA	SONIPAT	131402	0 CBINU280599	2186588953	381147961214		320	10 25X	800-	280.	5730	
	1	10.0	751 1377-11-14	50000 RANBIR	GOPALPUR	SOMPAT	1	5- CBINE 28-109	1195525198	971123040451	Ender, per protes autority for other real		and an at all	and the local data	2400		
	CHANAR ,	CA 2					-	16		and the second sec	1123 C. 119	800	Alter and the				
to all and	Service .	134 2	572,2948 24.22	2016-2-353	SAD.	RAJAR	131/2	4.	1202753930	427688 14 14	1919-17-11	182	All and St.	- N.L	1220	1950	

											AH	edonce		1.05139	57 2018-07-04	1 300		Tiber	440		610	3224
			-	-			1		1314	02 R173	7	6 SYNBOOCHIVE	205886	441410313			1	2 360	08 0	4400	870	0 13100
1 10341.	F QHANAK	BA -2	70	0 1995-07-04	900	OORAMBIR	KHARKHODA	SONIPAT	1		1	1218000EIVE	819122:10005886	5017617375	47 2018-07-17	300	1	2 360	0 80	4400	8700	
	F CHANAK	8A 2	64	8 1995-09-16	600	OO MUKESH	KHARKHODA	SONIPAT	1314	C2 R171	<u>.</u>	PUNBOHGBOOL	7510100129805	2643960824	74 2018-07-04	300	1	360	0 800			13100
AND LET N			-				BARONA	SONIPAT	1314	02 R175	<u>/-</u>	ORBCOM	05092151021449	30.1						4400	8700	13100
	F BALMIN	BA -2	72	1999-05-30	1000	00 SUKHBIR		HAIAR	1241	05 R171	8	ALLA0212250	<u>0509555559242</u> 59027569242				12	3600	800	4400	8700	13100
S-PUDNOIA	F CHAMAR	8A -2	55	1 1999-02-10	600	00 RAJBIR	BADU	11FDGMGK	1			CLLA0212352	5902730	3501440088	83 2018-08-13	300	12	3600	800	4400	8700	13100
SU RAJAN	F DHANAK	BA -2	73	2 1979-09-17	600	00 RAJ KISHORE	CHOLKA	SONIPAT	1314	02 R1725	יר	PUNBO668	6686000100036100	70479180325	3 2018-08-13	300	12	3600	800	4400		
10 HETTI RANI	F CHAMAR	BA -2	63	0 1996-11-30	1000	00 OMPARKASH	KHURAMPUR	SONIPAT	1314	02 R1712		SBINOOOSEN	33547788357	92874946033		1					8700	13100
LE PRIYANKA	F DHANAK		-	-				SONIPAT	13140	2 R1724	8	ORBCOM	08092151017862	928745		1 1	12	3600	800	4400	8700	13100
		BA -2	61	0 1999-12-10	6000	00 PARTAP SING		SONIPAT	13140	38 R1715			080921	75775171673	3 2018-07-17	300	1.2	3600	800	4400	8700	13100
12 MANJU	F CHAMAR	BA -2	- 69	4 1998-11-02	7000	OU DEVI DAYAL	SILANA	SURIFA			18	PUNB0312000	3120001500169900	33002070630	8 2018-07-04	300	12	3600	800	4400	8700	12100
78 ANIU	F CHAMAR	BA -2	68	5 1998-11-02	7000	DO DEVIDAYAL	SILANA	SONIPAT	13140	8 R1715	71		3120001500169530	71182942228	2 2018-07-04	300	12	3600	ROO			13100
SAKSHI	F BALMIKI	BA - 2	63	1 1999-05-25	4000	DO ASHOK KUMAS	FARMANA	SONIPAT	13140	8 R1711	-	SBINDOG3413	34047936215	/11020			**		800	4400	8700	13100
25 NISHA	F DHANK	6A -2	-	8 1998-07-09	1	DO RAJESH	GORAR	SONIPAT	13140	Z R1716		PUNB0312000	3120001700045920	96591833634	1	300	12	3600	800	4400	8700	13100
RENU							-	SONIPAT	18110	1 R1715	80		312000474 50366596195	87696033459	7 2018-08-13	300	12	3600	800	4400	8700	13100
	FOHANAK	BA - 2	74;	2 1998-09-16	2500	DO SURESH	AGWANPUR				176	ALLA0210638		89964278121	2018-07-04	300	12	3600	800	4400	8700	
PRIVA	F DHANAK	BA -2	717	7 1997-08-14	3000	AZAD SINGH	BARONA	SONIPAT	13140	2 81758	11	ORBC0100809	08092151020602	\$89158525725		300	12	1			0/00	13100
VISHAKHA	F DHANAK	BA -2	602	2 2000-02-06	6000	KRISHAN	KHANDA	SONIPAT	13140	R1722	10	BARBOKHAREH	50130100000717		1	300	12	3600	800	4400	8700	13100
SWEETI	F CHAMAR	BA -2	695	2000-06-05	7000	RAJENDER	SILANA	SONIPAT	13:40	R R17155		PUNB0312000	3120001500169600	70736931986	2018-07-04	300	12	3600	800	4400	8700	13100
Q FAMANNA	F DHANAK	BA -2	647	1998-07-18	8000		BARONA	SONIPAT	13140	A17235	9.	SBIN0006875	34259603230	967452502232	2018-07-04	300	12	3600	800	4400	8700	13100
11 USHA			+					1000037		R17243	80			806076160294	2018-08-13	300	12	3600	800	4400	8700	13100
	FKOLI	BA -2	675	1998-02-27	9500	ORAJENDER	KHARKHOQA	SONIPAT			78	BARBOKHARKH	50130100003423	203824113157	1	300	12	3600				13100
2 SUMAN	FOHANAK	BA -2	661	1998-12-20	3000	OSATEIR	RIDHAU	SOMPAT	131408	R17144	76	SB/N0006875	36961309178					C	800	4400	8700	13109
3-VAPSHA	F DHANAK	BA -2	676	1996-12-07	7200	NATTHU	KHARKHOOA	SQNIPA T	131402	R17225	-	PUNBOHGB001	2185539309	933535581208	2018-07-04	300	12	3600	800	4400	8700	13100
GUDDI	F DHANAK	BA -2	601	8/1/2000	80000	NARESH	ROHNA	SONIPAT	131402	R17117	80	ORBC0100809	0809215108029	814180772792	26118-07-17	300	12	3600	800	4400	8700	13100
SUSMITA	F DHANAK	8A -2	663	1999-11-29	70000	RAJESH	ROHNA	SONIPAT	131402	A17198	85	588N0006875	37164350193	907106526599	2018-07-04	300	12	3600	800	4400	8700	13100
SAKSHI	F CHAMAR	BA -2		1999-09-25		RAJESH	HUMAYUNPUR	ROHTAK	174.076	R17220	77	PUNBO235700		266585150858	2618-07-04	300	12	3600	800	4400	8700	13100
-			-			SHASHI					80		2357001502414700									
SONAM	FKHATIK	BCOM-2	202	18-8-2002	50000	BHUSHAN	KHA4XHOOA	SCINIPA"	131402	R17101	-0	PUMBO668600	6585001500001000	558832206044	2018-08-13	300	12	3600	800	4400	10500	14900
ANJALI	F CHAMAR	BCA2	1683	2000-05-05	80000	ANAND SINGH	KHARKHOGA	SCINIPA T	131402	R17731	IT	CBIN0280399	362117067	509871622938	2018-08-13	300	12	350L	800	4400	12000	16400
ANNU	F DHANAK	3CA-2	1663	1999-C2-18	50000	JAIPAL	CHOLKA	SCRUPAT	131402	R17685	80	SBIN0005875	35302977701	900252643735	2018-07-04	300	12	3600	800	4400	12000	15400
SWEETY	F CHAMAR	SNPT-2	4010	2000-05-24	80000	SURENDER	KHANDA	SOMPAT	131402	R17175	85	SBINDOD6875	35144422941	294144018757	2018-07-17	300	12	3600	800	4400	25600	30000
ANNU KUMARI	F CHAMAR	SNPT-2	4011	1998-07-04	20000	NARESH -	KHANDA	SCREPAT	131402	R17218	79	CBIN0282118	3477816195	467803393018	2015-07-04	300	12	3600	800	4400		-
ANIAU	F DHANAK	SNPT-2								and a second	7.8										25600	30000
			1			1	CHOLKA	SONIPAT	131402	R17945	20	CB/N0282118	2207927130	820512078144	ZC18-07-04	300	12	3600	800	4400	25600	30000
	F BALMIK	SNPT-2	2018 1	1990-07-21	80000	NAPHE SINGH	GOPALPUR	SONIPAT	131402	817271		\$BIN0006875	35836694352	976212343925	2018-08-13	300	12	3600	800	4400	25600	30000
14-50 1	Designer	SNPT-2 /	4009 1	998-08-30	and a second second second second	BUENDER	CHOLKA	SONIPAT	13:402	17942	81	SBIN0006875	35656326799	700338436388	2018-08-13	300	12	3600	800	4400	25600	30000+
email a	CHEMILE	- HOM 2 /	2017 1	999-12-16	10000	SURENOVA SINGH	ATOLA	SONIPAT	141404	17154	78	ORBC0100809	08092151008426	578310299266	2018-07-04	300	12	3600	800	4400	15600	20000
LEENULA	CHANTAR	CT-10.4-2	2015 1	999-07-10	50030	REM SING	AROTH	SONIPAT	131403		90	CBINC180399 .	2185536375	ALC: NOT A								+
1	ICHAMAS	CTHEMA 2	1		1				1		-			545634215229		100	12	3600	800	4400	15670	3000
					1	HARAYAN SONGH	The Research of Long to Children in Contraction	SCINIPAT	131402 =	17364		CBIN0280399	3249924825	608613401422	20.8-07-04	300	12	2600	800	2400	15800	70002
29/20 2	1722/32	J-42 /	2014 <u>,20</u>	00-07-22	15000	RISHAN /	HARCTH	SOMPA-	131403 0	17928		CBIN0180399	2185531923	623083263662	2018-07-04	300	12	76%	800	24.00	1987	20025
4 (1) 	2.2.2		222 22	<u>92/22 22</u>	\$ 2020 19	esamere	10.949	SCHIPAT	131408 R	17192	79	ELMECUSEDON N	1549715401545701	321851885016	10-0.15-11	200	12	3.555		4400	13658	inte
- 19 - Contractor		1	11.12	19-13-12	4978 1	TENDER /		SOMIPA*	131402 4	7540	0 0	240001.00804	DRD94101111985			Contain Palace many	and the barres		and a strength	and the second second		1000
							and the second second second		the party and grow of the designed			the product of the second of the second s	A A A A A A A A A A A A A A A A A A A		12 8-25-12	3001	- Elim	- it -			-	1 million and

			- ,					Affend	ance			07.04	300	3600	800	- 4400	15600	141
a section of	e	CTHM-2 2015 1994	-06-15	25000 RAMNIWAS	KHARKHODA	SONIPAT	131402 R1 168	80	-7-		955321735470 20	18-07-04						20000
7				30000 GULAB SINGH-	DI MAD'IN	SONIPAT	151402 P1727		09800100805	0809219:063614	278227329938 20	18-07-17	300	12 3600	800	4400	11300	15700
	AMAD -AMAD	BA -3 -00 1993				SONIPAT	131408 R17271	12	SBIN0006875	20239623210	524486260438 .0	18-07-04	300	12 3600	800	4400	11300	1570
NIAL.	E LOGANAK	BA -3 717 1999	9-06-01	200000 PHOOL KAWAR	FARMANA			20 -	SBIN 0006875	33311968601	805458100032120	18-07-04	300	12 3600	800	4400	11300	1570
REETU	r ichamar	BA-2 678 199	9-11-25	84000 ROHTASH	KIBOLI	SONIPAT	131402 R17271		SBIN0006875	34078554989	303691338330 20	18-08-13	300	12 3600	800	4400	11300	1570
MAMTA	IF DHANAK	BA -3 716 199	9-11-24	75000 NARESH	FARMANA	SONIPAT	131408 R17271		SBIN0006875	34001027554	216929476041 20	18-08-13	300	12 3600	. 800	4400	11300	1570
MIDH	F CHAMAR	5A -3 573 199	8-04-06	90000 BHIM SING	SISANA	SONIPAT	131408 R17271	111	PUNB0312000	\$120000100222660	21692947001	18-07-04	300	12 3600	800	4400	11300	157
SHIKSHA	F CHAMAR	BA -3 679 199	9-07 20	34000 RAMNIWASH	KIROLI	SONIPAT	131402 R17271		S81N0006875	34145909609	848421219674 20		300	12 3600	800	4400	11300	- 157
50NAM	F CHAMAR	BA -3 659 199	7-04-28	BODOO ROHTASH	KHARKHODA	SONIPAT	131402 R1, 271	76	CBINC280399	2185537244	871811562419 20				800	4400	11100	_
	F DHANAK		98-12-02	80000 KULDEEP	KHARKHODA	SONIPAT	131402 R1 272	75		and a second sec	\$73905690453 20		300	12 3600				
PAYAL			97-10-07	96000 MANOJ KUMAR	KHAPKHODA	SONIPAT	131402 R1 '272	75	HDEC0002939	50100153058230	223373933523 20		300	12 3600	800	4400	11100	
A KOMAL	F DHANAK			96000 RAMESH KUMAR	1	SONIPAT	131001 81/118	80	CHIRBO002047	5528101001412	51482191015775 2	018-08-13	300	12 3600 27-0	800	1500	25600	2312
1 JYOTI	F PASI	SNPT-3 4029 199			THANA KALAN	SONIPAT	131402 R17234	81	OR8C0105148	390675082	846612574086 2	018-08-13	570	9 4770	800	7800	19630	2290
2 SARITA DEVI	F CHAMAR	MSC-1 1810 199		10000	ł	SONIPAT	131403 R17210	80	S81N0006875	31761393471	249528573851 2	018-07-04	300	10	- 800	1500	19100	23130
3 VARSHA	F CHAMAR	MSC-1 1806 199	96-08-04	50000 SURENDEB	KANWALI		131403 R. 8411	76-	SBIN0006875	33213445672	338912382336 2	1	300	9 2700	800	\$570	19630	-25-
14 REKHA	F CHAMAR	MSC-1 1762 199	95-05-10	60000 RAM KANWAR	TRANWAU	SONIPAT		78-	SBIN0006875	13158375953	941526792374 2	1	3 -0	10 500	800	7600	19100	
L5 NEHA	F CHAMAR	MSC-1 1757 199	94-12-30	60000 AVDHESH	SONIPAT	SONIPAT	131001 R18503	75	SBIN0004731	33940243789	652594967660 i		200	10 3-50	800	7800	19100	2290
16 KUMARI VARSH		MSC-1 .1809 199	94-08-05	40000 KRISHAN PAL	KHARKHODA	SONIPAT	131402 317209		CBIN0280399	2185529039			300	9 1770	800	1500	12630	1613
7 PRIYANKA	F BALMIKI	MCOM-1 112 19	96-02-21	BOOOD NARESH KUMAB	THAROTHI	SONIPAT	131403 R18469	80	58IN0006875	20239622013	230458809024		300	9 4776	r	3500	8100	1169
8 POOJA	F CHAMAR	MA-H-1 1444 199	90-03-02	RAJENDER 80000 SINGH	ROHAT	SONIPAT	131403 R18317	90	SBIN0006875	34101868710	710238435889		300	2700	1	3500	8100	11600
9 POOJA DEVI	F BALMIKI	MA-H-1 1450 199	96-06-15	60000 RAJ SINGH	GOPALPUR	SONIPAT	131402 R18456	87	SBIN0006875	32459733971	583018090567	2018-07-04	300	9 270	r	7500		116-
0 ANNU	F DHANAK	MA-H-1 1440 199	93-04-02	60000 NANDLAL	SILANA	SONIPAT	131408 R18471	80	SBIN0006875	32553434135	456162056928	2018-07-17	300	9 477	800	3800	- 8100	1190
ISAVITA	F CHAMAR	MA-H-1 1454 199	92-01-10	60000 BALLEET	JASSAUR KHER	HALAR	124505 R18487	82	PUNB0003500	0035000105415910	334537569605	2018-07-04	-530	10 530		7800	8100	1190
BAEY	F KHATIK	MA-H-1 1452 195		50000 PALE RAM	MURTHAL	SONIPAT	130127 R18501	75		65171465672	793141011127	2018-07-04	200	10 500	800		8100	1160
	F CHAMAR	MA-H-1 1447 199		80000 JAI BHAGWAN	554.84	SONIPAT	131408 R18482	81	SBIN0050228	2120001500153100	313520984813	2018-07-2	300	9 _ 2700	801	5570	- 8100	1 -1
DEEPIKA				60000 RAMCHANDER		SONIPAT	131402 818526	71-	PUNB0312000				200	9 2700	80		- 8100	
RENU	F SALMIKI				CHARKHODA	SONIPAT	131402 R18526	79	ORBC0100809	08092171000073			300	2700	80	3500	8100	
NOTI	F BALMIKI	МА-Н-1 1463 199			r			80	ORBC0100809	08092171000110		28	300	9 27	0 80	0 150	- 8100	
RAINI	F BALMIKI	MA-H-1 1448 199	25-04-04		SIDHLAN	SONIPAT	131402 R18480		1P()NB0312000	312000150017000	1		300	2.200		2500	14630	181
DIVYA	F KHATIK	MA-G-1 1410 199	95-11-04	90000 BHAJANLAL MURARI LAL	KHARKHODA	SONIPAT	131402 818421	80	CURCE TOORDA	0809219104191	1	T	300	270	r.	3500	1463	18
ROOMA PAWA3	FKHATIK	MA-G-1 1409 199	3-03-14	80000 PAWAR	KHARKHODA	SONIPAT	131402 P18471	,/	ORBC0100809	0809219101690		1	200	9 42	or	00 3500 00 7500		116
RITU Z	F CHAMAR	MA-H-2 1490 199	1-05-10	70000 KRISHAN	KHARKHOCA	SONIPAT	131402 R17246	90	PUNB0668500	668600010004490	0 34207978575	8 2018-07-04		10 53	801 8	4400		174
usma / p	F CHAMAR	MA-G-2 1529 199	503-20	72000 RAMKARAN	FARMANA	SONIPAT	131408 R17217/	25	SBINDC03413	3247793956	82695807271	\$ 2018-07 2	, 20	12 5	60 8	4400	1304	17
NGHE 2	F CHAMAR	MA G-2 1520 199	2-04-03	140000 SHRI BHAGWAN	ROHNA	SONIPAT	1314C2 R17239	76	OR8C0100809	0809219106367	31926883034	8 1018-08 1	3 530	- 12 -	900 5	3500	0- 130	
SEEMA /	- CHENOK	PT-064 1952 197	5-01-15	72000 RAM KAWAR	POHNA	SONIPAT	131402 R18507.	0	SBIN0006875	325552185		3 2018-08 1	300	9 27	2201	33 00 55-	188	830

4

the second second

a second

4

4 4 - 1 NNN.

B 2-

Kanna Ma Ki